Program: BE ---------—--- Electrical------ Engineering
Curriculum Scheme: Revised - 2012
Examination: Third Year Semester VI
Course Code: _ EEC606_and Course Name: __ Project Management___

Time: 1 hour Max. Marks: 50

Note to the students: - All the Questions are compulsory and carry equal marks .

Ql. SWOT stands for

Option A: Strengths, Wellbeing, Opportunities, Threat
Option B: Sudden Weaknesses, Outstanding Threats
Option C: Social Ways of Overcoming Threats

Option D: Strengths Weakness Opportunities Threats

Q2. Which of the following could be a threat

Option A: Changes in technology

Option B: A market vacated by an ineffective competitor
Option C: Location of your business

Option D: Lack of marketing expertise

Q3. Which of the following could be a weakness
Option A: A developing market such as the Internet

Option B: Competitors with access to better channels of distribution
Option C: Poor quality of goods and services

Option D: Special marketing expertise

Q4. NPV stands for

Option A: New present value

Option B: Net present value

Option C: Net profit value

Option D: Net preview value

Q5. How often should a SWOT Analysis be performed
Option A: Only when specific issues need to be addressed
Option B: At least once per year

Option C: Only when the business starts

Option D: Every 3-5 years

Q6. | - Method of capital budgeting also known as ‘trial and error’ method
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Option A: ARR

Option B: NPV

Option C: BCR

Option D: IRR

Q7. | - is the point at which Net Present Value becomes zero

Option A: Break Even point

Option B: Average Rate of return

Option C: Internal Rate of return

Option D: Profitability index

Q8. At Breakeven point contribution will be equal to----------

Option A: Variable cost

Option B: Fixed price

Option C: Profit

Option D: Loss

Q9. SCBA stands for----------

Option A: Strategic Control for Business Administration

Option B: Strategic Cost and Benefit Administration

Option C: Social Cost Benefit Analysis

Option D: Socially Controlled Benefit Analysis

Q10. Project planning processes comprises of

Option A: WBS CPM and Budgeting

Option B: only risk management

Option C: only execution of work

Option D: Designing of work

Q11. Which structure shows the reporting relationships and communications
channels for a project

Option A: Work Breakdown Structure

Option B: Organizational Breakdown Structure

Option C: Product Breakdown Structure

Option D: Responsibility assignment structure

Q12. Impact assessment is the evaluation of --------- if it were to occur

Option A: Risk

Option B: Unplanned activity

Option C: Cost over run

Option D: Time over run

Q13. Individual risks are evaluated in the risk analysis

Option A: Qualitative

Option B: Quantative

Option C: Probability
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Option D: Matrix

Qi4. Sensitivity analysis is technique used to determine risks having
Option A: Less impact on project

Option B: Greatest impact on project

Option C: Having no impact on project

Option D: Having changing impact on project

Q15. A risk may be

Option A: Negative

Option B: Positive

Option C: Negative and Positive

Option D: Neutral

Qle. The BEP -------- when selling price is increased
Option A: Increases

Option B: Decreases

Option C: Remain unchanged

Option D: Constant

Qi7. Which agency is involved in transportation in project management

Option A: NCHRP

Option B: MHRD

Option C: MSME

Option D: MSBTE

Q1s. Total Quality Management (TQM) focuses on

Option A: Employee

Option B: Customer

Option C: Employee and Customer
Option D: Neither Employee nor Customer
Q19. Which type of project cost estimate is the most accurate

Option A: Preliminary

Option B: Definitive

Option C: Order of magnitude

Option D: Conceptual

Q20. The Scope Management Plan is included in which of the following documents

Option A: Project Plan

Option B: The Work Breakdown Structure

Option C: The Scope Statement

Option D: Project Specifications

Q21. A list of illustrations, included figures and tables, placed on

Option A: Abstract
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Option B: Title page

Option C: Table of content

Option D: Bottom line

Q22. Comissioning team consists of

Option A: Manager

Option B: Leader

Option C: Engineer

Option D: Manager and Engineer

Q23. Elements of Contract is one of following

Option A: Proposal

Option B: Acceptance

Option C: Agreement

Option D: Legal enforceability

Q24. Negotiation is done in contracts with respect to

Option A: Money

Option B: Quality

Option C: Money and Quality

Option D: Availability

Q25. The process by which an organization buys the products or services it needs
from other organizations

Option A: Tendering

Option B: Contract

Option C: Procurement

Option D: Inspection
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Question Correct Option
(Enter either ‘A’ or ‘B’ or
‘C’ or ‘D’)
Q1. D
Q2. A
Q3. C
Q4 B
Q5 B
Q6 D
Q7 o
Qs. B
Q9. o
Q10. A
Q11. B
Q12. C
Q13. A
Q14. B
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Q15.

Q1le.

Q17.

Qis.

Q1io.

Q20.

Q21.

Q22.

Q23.

Q24.

Q25.
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